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QUADRATIC EQUATION IN ONE VARIABLE

Examples

1. For what value of a, the equation  will not be a

quadratic equation?

A. 0

B. 1

C. 2

D. 3

(a − 2)x2 + 3x + 5 = 0

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_GMBuArZ7URDF


Answer:

Watch Video Solution

2. For what power of the variable of the equation  will

be a quadratic equation?

A. 0

B. 1

C. 2

D. 3

Answer:

Watch Video Solution

x6 − x3 − 2 = 0

3. If the expression  is expressed in the

form of , then the co-efficient of x will be

= (x ≠ 0, x ≠ 4)
x

4 − x

1

3x

ax2 + bx + c = 0(a ≠ 0)

https://dl.doubtnut.com/l/_GMBuArZ7URDF
https://dl.doubtnut.com/l/_QEIB5GDoURRx
https://dl.doubtnut.com/l/_jACQuiXuJgMd


A. 0

B. 1

C. 2

D. 3

Answer:

Watch Video Solution

4. Which of the following is a quadratic polynomial ?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

x3 − 7x + 2

7x5 − x(x + 2)

2x(x + 5) + 1

2x − 1

https://dl.doubtnut.com/l/_jACQuiXuJgMd
https://dl.doubtnut.com/l/_murdtARU02cv


5. Write true or false : 

The equation  is not a quadratic equation in one

variable.

Watch Video Solution

x + = 2(x ≠ 0)
1

x

6. Write true or false : 

The equation  is a quadratic equation of one

variable.

Watch Video Solution

(x − 1)3 = x(x2 − 1)

7. The co-efficient of  in the equation  _____

Watch Video Solution

x3 (x + 1)3 = x(x2 + 1)

https://dl.doubtnut.com/l/_murdtARU02cv
https://dl.doubtnut.com/l/_JLTKzVTtfzrb
https://dl.doubtnut.com/l/_5y2p3m886M7j
https://dl.doubtnut.com/l/_EVNi45dPVJsI


8. The given equation  (t=constant is a _______ equation in

______ variable.

Watch Video Solution

x− 1 + x = t

9. The quadratic equation  becomes a linear equation

when a= ______.

Watch Video Solution

ax2 + bx + c = 0

10. Express the term  in the form of

.

Watch Video Solution

3x2 + 7x + 23 = (x + 4)(x + 3) + 2

ax2 + bx + c = 0(a ≠ 0)

11. Express the term  in the form 

 of quadratic equation and find the coefficient

(x + 2)3 = x(x2 − 1)

ax2 + bx + c = 0(a ≠ 0)

https://dl.doubtnut.com/l/_oRi3D5lP0KoF
https://dl.doubtnut.com/l/_LCazZmEBjEaK
https://dl.doubtnut.com/l/_tU8TIsZO4prD
https://dl.doubtnut.com/l/_yZIs0mvoX4kJ


of .

Watch Video Solution

x2, x and x0

12. Form a quadratic equation in one variable from the following

statement(s) : 

The product of two consecutive positive odd numbers is 143.

Watch Video Solution

13. Express the term  in the form 

 where a, b, c are real numbers and .

Watch Video Solution

x − 1 + = 6(x ≠ 0)
1

x

ax2 + bx + c = 0 a ≠ 0

14. Verift whether the following euqation can be written in the standard

form or not : 

Watch Video Solution

x + = x2(x ≠ 0)
3

x

https://dl.doubtnut.com/l/_yZIs0mvoX4kJ
https://dl.doubtnut.com/l/_kJZakI5RUYEk
https://dl.doubtnut.com/l/_qBzuZYCDEaHE
https://dl.doubtnut.com/l/_ZpDCvgn35WFQ


15. The sum of squares of two consecutive numbers is 313.Hence find the

required quadratic equation.

Watch Video Solution

16. The diagonal of a rectangular field is 15 m and its length is 3 m more

than its breadth.Find out the required quadratic equation in one variable

Watch Video Solution

17. The distance between two stations is 300km. A train went to second

station from first station with uniform velocity. If the velocity of the train

had been 5 km / hour more, then the time taken by the train to reach the

second station would be lesser by 2 hours.

Watch Video Solution

https://dl.doubtnut.com/l/_ZpDCvgn35WFQ
https://dl.doubtnut.com/l/_oWgI6tLxxbpu
https://dl.doubtnut.com/l/_rC8ibltkBVqV
https://dl.doubtnut.com/l/_sRwR4zNl1SxT
https://dl.doubtnut.com/l/_QYvOYIvSQItE


18. One person baught some kg of suger for RS 80. If he would get 4 kg

sugar more with that money, then the price of 1 kg sugar would be less

by RS 1.Hence find the required quadratic equation.

Watch Video Solution

19. A clock-seller sold a clock by purchasing it at RS 336. The amount of his

profit percentage is as much as the amount with which he bought the

clock.Hence find the required quadratic equation.

Watch Video Solution

20. If the velocity of the stream is 2 km/hr, then the time taken by

Ratanmajhi to cover 21 km in downstream and upstream is 10

hours.Hence find the required quadratic equation.

Watch Video Solution

https://dl.doubtnut.com/l/_QYvOYIvSQItE
https://dl.doubtnut.com/l/_WUHk10bnQdro
https://dl.doubtnut.com/l/_dwzGfbm4K1ui


21. The time taken to clean out a garden by Majid is 3 hours more than

that by Mahim. Both of them together can complete the work in 2

hours.Hence find the required quadratic equation.

Watch Video Solution

22. The unit digit of a two digit number exceeds its tens' digit by 6 and

the product of two digits is less by 12 from the number.Hence find the

required quadratic equation.

Watch Video Solution

23. There is a road of equal width around the outside of a rectangular

play ground having the length 45 m and breadth 40 m and the area of

the roda is 450 sq-m.

Watch Video Solution

https://dl.doubtnut.com/l/_DqrrwFFsyRRM
https://dl.doubtnut.com/l/_dzJddLRkMLFY
https://dl.doubtnut.com/l/_t4TF9u5xZSnp
https://dl.doubtnut.com/l/_N44k542lPHay


24. The value of k for which  is a root of the quadratic equation 

 is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

2

3

7x2 − kx − 3 = 0

−
1

6

1

6

5

6

−
5

6

25. The value of k for which (-a) will be a root of the quadratic equation

 is

A. 

B. 

C. 

x2 + 3ax + k = 0

a2

−a2

−2a2

https://dl.doubtnut.com/l/_N44k542lPHay
https://dl.doubtnut.com/l/_3HUVnp6ijHFY


D. 

Answer:

Watch Video Solution

2a2

26. One root of the equdratic equation  is

A. 0

B. 

C. 1

D. None of these.

Answer:

Watch Video Solution

x2 + 2x + 1 = 0

−1

27. One root of the quadratic equation  isx2 − √3x − 6 = 0

https://dl.doubtnut.com/l/_3HUVnp6ijHFY
https://dl.doubtnut.com/l/_ESfQnAZMp11I
https://dl.doubtnut.com/l/_66XNjd736syJ


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

4√3

√3

2√3

−2√3

28. The value of  for which a will be  root of the quadratic equation

 TRUE or FALSE.

Watch Video Solution

k a

x2 + 3ax − k = 0  is 4a2

29. The quadratic equation  have no real root.

Watch Video Solution

x2 − 2x + 1 = 0

https://dl.doubtnut.com/l/_66XNjd736syJ
https://dl.doubtnut.com/l/_FNr9kt1EH1Eg
https://dl.doubtnut.com/l/_uon83zB88UCa
https://dl.doubtnut.com/l/_eIJlOoo13OCd


30. Fill in the blanks : 

The solutions of the quadratic equation  are ______ and

______ .

Watch Video Solution

x + =
1

x

10

3

31. Fill in the blanks : 

If one root of the quadratic equation  then

the value of a is ______ .

Watch Video Solution

3x2 − √3x − a = 0  be , √3

32. Fill in the blanks : 

If 1 be a root of the equation , the value of k is ______ .

Watch Video Solution

x + kx− 1 = 2

https://dl.doubtnut.com/l/_eIJlOoo13OCd
https://dl.doubtnut.com/l/_9Xzmf8enxXpI
https://dl.doubtnut.com/l/_vAQ7Rr1uyykz


33. Short-answer type questions (S.A.) : 

(i) Solve : 

Watch Video Solution

x + =
1

x

13

6

34. Short-answer type questions (S.A.) : 

If one root of the quadratic equation , then

find the value of a.

Watch Video Solution

3x2 + √2x + a = 0  be √2

35. Short-answer type questions (S.A.) : 

Prove that the quadratic equation  have the roots 1 and

5.

Watch Video Solution

x2 − 6x + 5 = 0

https://dl.doubtnut.com/l/_6k7R9qk7CKzd
https://dl.doubtnut.com/l/_VxUXgoEpNBJd
https://dl.doubtnut.com/l/_bWwJJmpobtEn


36. Short-answer type questions (S.A.) : 

For what value of k, 1 is a root of the equation ?

Watch Video Solution

x + = 2
k

x

37. Long-answer type questions (L.A.) 

If two root of the quadratic equation

, then find the value of a and b.

Watch Video Solution

ax2 + 7x + b = 0  be and − 3
2

3

38. Long-answer type questions (L.A.) 

Watch Video Solution

(2x + 1)2 + (x + 1)2 = 6x + 47

https://dl.doubtnut.com/l/_3PM8srLywgun
https://dl.doubtnut.com/l/_EerZF50J8xz8
https://dl.doubtnut.com/l/_mA0xUoA1paig


39. Long-answer type questions (L.A.) 

Watch Video Solution

3x − = (x ≠ 0)
24
x

x

3

40. Long-answer type questions (L.A.) 

Watch Video Solution

− + 2 = 0, (x ≠ 0)
2

x2

5

x

41. Long-answer type questions (L.A.) 

Watch Video Solution

+ 6( ) = 1, (x ≠ − 2, 6)
x − 2

x + 2

x − 2

x − 6

42. Long-answer type questions (L.A.) 

+ = 2 (x ≠ 0, − 1)
x

x + 1

x + 1

x

1

12

https://dl.doubtnut.com/l/_tbwod9QHQZ2l
https://dl.doubtnut.com/l/_GnXgSwj0hmAv
https://dl.doubtnut.com/l/_A1Rajq5ZQsL6
https://dl.doubtnut.com/l/_Er14vh3wV3LD


Watch Video Solution

43. Long-answer type questions (L.A.) 

Watch Video Solution

= (a ≠ b, c ≠ d, x ≠ − , − )
ax + b

a + bx

cx + d

c + dx

a

b

c

d

44. Long-answer type questions (L.A.) 

Watch Video Solution

(2x + 1) + = 4, (x ≠ − ),
3

2x + 1

1

2

45. Long-answer type questions (L.A.) 

Watch Video Solution

+ 6( ) = 5, (x ≠ 3, − 3),
x + 3

x − 3

x − 3

x + 3

https://dl.doubtnut.com/l/_Er14vh3wV3LD
https://dl.doubtnut.com/l/_k4W327OYX4vB
https://dl.doubtnut.com/l/_A52lV0QF9GBb
https://dl.doubtnut.com/l/_pgkN9tMtu0jD


46. Long-answer type questions (L.A.) 

Watch Video Solution

+ = + −      (x ≠ − 1),
x + 1

2

2

x + 1

x + 1

3

3

x + 1

5

6

47. Long-answer type questions (L.A.) 

Watch Video Solution

= + + {x ≠ 0, − (a + b)}
1

a + b + x

1

a

1

b

1

x

48. Long-answer type questions (L.A.) 

Watch Video Solution

( )
2

− 5( ) + 6 = 0, (x ≠ a),
x + a

x − a

x + a

x − a

49. Long-answer type questions (L.A.) 

− = − (x ≠ 0, − b)
1

x

1

x + b

1

a

1

a + b

https://dl.doubtnut.com/l/_1MK3M4wmb5r3
https://dl.doubtnut.com/l/_48XfYAet04mb
https://dl.doubtnut.com/l/_r9TBC61mHLqP
https://dl.doubtnut.com/l/_AylLyb0DT8oh


Watch Video Solution

50. Long-answer type questions (L.A.) 

Watch Video Solution

+ + = (x ≠ 1, 2, 3, 4)
1

(x − 1)(x − 2)

1

(x − 2)(x − 3)

1

(x − 3)(x − 4)

1

6

51. Long-answer type questions (L.A.) 

.

Watch Video Solution

+ = (x ≠ a, b, c)
a

x − a

b

x − b

2c

x − c

52. Long-answer type questions (L.A.) 

Watch Video Solution

x2 − (√3 + 2)x + 2√3 = 0

https://dl.doubtnut.com/l/_AylLyb0DT8oh
https://dl.doubtnut.com/l/_P9VkOU4uKpdg
https://dl.doubtnut.com/l/_TBQ2B5DHUQZL
https://dl.doubtnut.com/l/_IkssRpnlXoH1


53. The number of roots of a quadratic equation is

A. 1

B. 2

C. 3

D. None of these.

Answer:

Watch Video Solution

54. If  be a quadratic equation, then

A. 

B. 

C. 

D. None of these.

ax2 + bx + c = 0

b ≠ 0

c ≠ 0

a ≠ 0

https://dl.doubtnut.com/l/_stdGR48A8Mb3
https://dl.doubtnut.com/l/_SUsYB6yjnQe6


Answer:

Watch Video Solution

55. The highest power of the varible of a quadratic equation is

A. 1

B. 2

C. 3

D. None of these.

Answer: 2

Watch Video Solution

56. The equation  is

A. Linear

4(5x2 − 7x + 2) = 5(4x2 − 6x + 3)

https://dl.doubtnut.com/l/_SUsYB6yjnQe6
https://dl.doubtnut.com/l/_tsOe1k5zoYyU
https://dl.doubtnut.com/l/_cjBt75l05vAG


B. Quadratic

C. Cubic

D. None of these.

Answer:

Watch Video Solution

57. Root/ roots of the equation  is /are.

A. 0

B. 6

C. 0 and 6

D. 

Answer:

Watch Video Solution

= 6
x2

x

−6

https://dl.doubtnut.com/l/_cjBt75l05vAG
https://dl.doubtnut.com/l/_XUlUAZA1nP45
https://dl.doubtnut.com/l/_2FLRTINM8ucA


58. Write which of the following are true /false : 

 is a quadratic equation.

Watch Video Solution

(x − 3)
2

= x2 − 6x + 9

59. Write which of the following are true /false : 

5 is the only one root of the equation .

Watch Video Solution

x2 = 25

60. If a=0 and  in the equation , then the

equation is a ______ equation.

Watch Video Solution

b ≠ 0 ax2 + bx + c = 0

61. The roots of the equation  are _______ and ______.

Watch Video Solution

x2 = 6x

https://dl.doubtnut.com/l/_2FLRTINM8ucA
https://dl.doubtnut.com/l/_qz2nhLCn0AGf
https://dl.doubtnut.com/l/_lx6DCtxyGLLc
https://dl.doubtnut.com/l/_j9J8g2UCd5AZ


62. Find the value of a if 1 is a root of the equation .

Watch Video Solution

x2 + ax + 3 = 0

63. Determine the other root of the equation  if

one of its roots is 2.

Watch Video Solution

x2 − (2 + b)x + 6 = 0

64. If 2 is root of the equation , then what is the value

of the other root?

Watch Video Solution

2x2 + kx + 4 = 0

65. The difference of a proper fraction and its reciprocal is . Then find

the equation.

9

20

https://dl.doubtnut.com/l/_j9J8g2UCd5AZ
https://dl.doubtnut.com/l/_BU4ZOtwLdaV0
https://dl.doubtnut.com/l/_Z6IHM3XAKzAw
https://dl.doubtnut.com/l/_B2GXlvNbY3Nq
https://dl.doubtnut.com/l/_fXI62SIgzHAI


Watch Video Solution

66. If -5 and -7 be two roots of the equation , then find

the values of a and b.

Watch Video Solution

ax2 + bx + 35 = 0

67. The difference of two positive whole numbers in 3 and the sum of

their squars is 117. Find the two numbers.

Watch Video Solution

68. The base of a triangle is 18m more than the double of its height. If the

area of the triangle be 360 sq-m, then find the height of the triangle.

Watch Video Solution

https://dl.doubtnut.com/l/_fXI62SIgzHAI
https://dl.doubtnut.com/l/_EfgjX7c3D2AT
https://dl.doubtnut.com/l/_V0UTpG0xF3nW
https://dl.doubtnut.com/l/_EItFisuPBNcE


69. If 5 times of a positive whole number is 3 less than 2 times of its

square, then find the number.

Watch Video Solution

70. The distance between two places is 200 km. The time taken by moter

car to travel from one place to another is more by 2 hrs than the time

taken by a zeep car.If the speed of the motor car is 5 kms/hr less than the

speed of the zeep car, then find the speed of the motor car.

Watch Video Solution

71. The tens' digit of a two digit number is less by 3 than unit digit. If the

product of the two digits is subtracted from the number the result is 15.

Find the unit digit of the number.

Watch Video Solution

https://dl.doubtnut.com/l/_8YvjUobUNUbZ
https://dl.doubtnut.com/l/_zH9V6hu7vsVt
https://dl.doubtnut.com/l/_NTfqfKwJNgKT
https://dl.doubtnut.com/l/_YRASKksfc7FG


72. There are two pipes in a water reservoir of your school. Two pipes

together take  minutes to fill the reservoir. If the two pipes are

opened seperately, then one pipe would take 5 mintutes more time than

the other pipe. Calculate the time taken to fill the reservoir seperately by

each of the pipes.

Watch Video Solution

11
1

9

73. Laxmi and Kartik together complete a work in 4 days. If they work

seperately, then the time taken by Kartik would be 6 days more than the

time taken by Laxmi. Calculate the time taken by Laxmi alone to complete

the work.

Watch Video Solution

74. If the price of 1 dozen pen is reduced by RS 6, then 3 more pens will be

got at RS 30. Before the reduction of price, calculate the price of 1 dozen

pen.

https://dl.doubtnut.com/l/_YRASKksfc7FG
https://dl.doubtnut.com/l/_x3RC8R9VUxpI
https://dl.doubtnut.com/l/_SDDSRyrs42pG


Watch Video Solution

75. The perfect square form of the quadratic equation

 is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

ax2 + bx + c = 0(a ≠ 0)

(x + )
2

=
b

2a

b2 − 4ac

4a2

(x − )
2

=
b

2a
b2 − 4ac

4a2

(x + )
2

=
b

2a
b2 − 4ac

4a

(x − )
2

=
b

2a
b2 − 4ac

2a

76. The perfect square form of the quadratic equation

 is

A. 

5x2 + 23x + 12 = 0

(x − )
2

= ( )
223

10

17

10

https://dl.doubtnut.com/l/_SDDSRyrs42pG
https://dl.doubtnut.com/l/_raZe8fqSux3p
https://dl.doubtnut.com/l/_hWgsAUJ44Cr8


B. 

C. 

D. 

Answer:

Watch Video Solution

(x + )
2

= ( )
2

23

10

17

10

(x − )
2

= ( )
223

10

19

10

(x + )
2

= ( )
223

10

19

10

77. If the equation  be expressed in the form 

, then the value of b is

A. 0

B. 1

C. 2

D. 3

Answer:

Watch Video Solution

(x − 2)(x + 4) + 9 = 0

ax2 + bx + c = 0(a ≠ 0)

https://dl.doubtnut.com/l/_hWgsAUJ44Cr8
https://dl.doubtnut.com/l/_f9xORwVbLbnj


78. If the equation  is expressed in the form 

 then the value of a is

A. 

B. 26

C. 

D. 16

Answer:

Watch Video Solution

(4x − 3)2 − 2(x + 3) = 0

ax2 + bx + c = 0(a ≠ 0)

−26

−16

79. If the equation  be expressed in the form 

 then the value of c is 2.

Watch Video Solution

(x + 2)(x − 4) + 10 = 0

ax2 + bx + c = 0(a ≠ 0)

https://dl.doubtnut.com/l/_f9xORwVbLbnj
https://dl.doubtnut.com/l/_qmW6QLMWFm1E
https://dl.doubtnut.com/l/_6d9YjAsIKNjv


80. The perfect square form of the quadratic equation

Watch Video Solution

3x2 + 17x + 11 = 0  is (x + )
2

= ( )

2
17

6

√157

6

81. The value of k is  when the quadratic equation 

 is solved by Sreedhar Acharya's formula is _____.

Watch Video Solution

x =
k ± 7

2

x2 + x − 12 = 0

82. If the equation  is expressed in the form 

, then the value of a is ______.

Watch Video Solution

(3x − 1)2 + 2(x − 3) = 0

ax2 + bx + c = 0(a ≠ 0)

83. Explain whether Sreedhar Acharya's formula is applicable or not in

solving the equation .4x2 + (2x − 1)(2x + 1) = 4x(2x − 1)

https://dl.doubtnut.com/l/_nnRvou34xrcx
https://dl.doubtnut.com/l/_sxYr6G221un8
https://dl.doubtnut.com/l/_dzfr0PPCTSWs
https://dl.doubtnut.com/l/_8Bzs44XI814o


Watch Video Solution

84. By applying Sreedhar Acharya's formula what type of equations can

we solve ?

Watch Video Solution

85. What is the value of k if  when the quadratic equation 

 is solved by Sreedhar Acharya's formula ?

Watch Video Solution

x =
k + 12

10

5x2 + 2x − 7 = 0

86. Express the equation  in the form of a

perfect square.

Watch Video Solution

cx2 + ax + b = 0, c ≠ 0

https://dl.doubtnut.com/l/_8Bzs44XI814o
https://dl.doubtnut.com/l/_M0CRAjMagWhS
https://dl.doubtnut.com/l/_G4uHDffJWPoV
https://dl.doubtnut.com/l/_1F4fuOxjOI9l


87. Multiplying LHS and RHS of the quadratic equation

 by 5, find the roots of the equation using perfect

square method.

Watch Video Solution

5x2 + 23x + 12 = 0

88. Solve the following equations using Sreedhar Acharya's formula : 

Watch Video Solution

(x − 2)(x + 4) + 9 = 0

89. Solve the following equations using Sreedhar Acharya's formula : 

Watch Video Solution

10x2 − x − 3 = 0

https://dl.doubtnut.com/l/_WM1F8BRSBJDa
https://dl.doubtnut.com/l/_cW6sW5OSVi0q
https://dl.doubtnut.com/l/_Gb86k0DLCLgX


90. Solve the following equations using Sreedhar Acharya's formula : 

Watch Video Solution

3x2 + 2x − 1 = 0

91. Solve the following equations using Sreedhar Acharya's formula : 

Watch Video Solution

25x2 − 30x + 7 = 0

92. Adhir has drawn a right-angled triangle whose length of hypotenuse

is 6 cm more than the twice of the shortest side. If the length of the third

side is 2 cm less than the length of the hypotenuse, then calculate the

lengths of the three sides of the right-angled triangle drawn by Adhir.

Watch Video Solution

https://dl.doubtnut.com/l/_4Gshvatiga8W
https://dl.doubtnut.com/l/_q56hwaIciVQT
https://dl.doubtnut.com/l/_JDAQLHv0RQAb


93. If a two digit positive number is multiplied by its unit digit, then the

product is 189 and if the tens' digit is twice of the unit digit, then

calcutate the unit digit.

Watch Video Solution

94. There is a squared park and a rectangular park in the locality of

Pradipbabu. The area of a rectangular park is 78 sq-m less than twice of

the area of that square-shaped park whose length is 5 m more than the

length of the side of that park and the breadth is 3 m less than the

length of the side of that park. Calculate the length of side of the square-

shaped park.

Watch Video Solution

95. Joshep and Kuntal work in a factory. Joshep takes 5 minutes less time

than Kuntal to make a product. Joshep makes 6 product more than

https://dl.doubtnut.com/l/_8lGMikz6ja25
https://dl.doubtnut.com/l/_65BpdfVLpnCj
https://dl.doubtnut.com/l/_xC0xXllV028B


Kuntal while working for 6 hours. Calculate the number of products

Kuntal makes during that time.

Watch Video Solution

96. The speed of a boat in still water is 8 km/hr. If the boat can go 15 kms

downstream and 22 km upstream in 5 hours, then calculate the speed of

the stream.

Watch Video Solution

97. A superfast train runs having the speed 15 kms / hr more than that of

an express train. Leaving same station the superfast train reached at a

station of 180 kms distance 1 hour before than the express train.

Determine the speed of the superfast train in km/ hr.

Watch Video Solution

https://dl.doubtnut.com/l/_xC0xXllV028B
https://dl.doubtnut.com/l/_YwM3Hb4SBRQm
https://dl.doubtnut.com/l/_SWsfl4cN8LCu


98. The sum of the roots of the quadratic equation  is

A. 2

B. 

C. 6

D. 

Answer:

Watch Video Solution

x2 − 6x + 2 = 0

−2

−6

99. If the product of the roots of the quadratic equation

 be (-2), then the value of k is

A. 

B. 

C. 8

x2 − 3x + k = 10

−2

−8

https://dl.doubtnut.com/l/_OtX2iOWv78Vr
https://dl.doubtnut.com/l/_jwcFgDfQ6S2N


D. 12

Answer:

Watch Video Solution

100. If the roots of the equation  be equal,

then

A. 

B. 

C. 

D. 

Answer: 

Watch Video Solution

ax2 + bx + c = 0(a ≠ 0)

c = −
b

2a

c =
b

2a

c =
−b2

4a

c =
b2

4a

https://dl.doubtnut.com/l/_jwcFgDfQ6S2N
https://dl.doubtnut.com/l/_3Zfu19m469Qm


101. If  be the roots of the equation , then the

value of 

A. 

B. 

C. 

D. 4

Answer: 

Watch Video Solution

α and β 3x2 + 8x + 2 = 0

( + )
1

α

1

β

−
3

8

2

3

−4

= = − 4
− 8

3

2
3

102. If  be the roots of the equation  then, 

.

Watch Video Solution

α and β x2 − px + q = 0

(α− 1 + β − 1) =
p

q

https://dl.doubtnut.com/l/_ipBVHvNBoeWR
https://dl.doubtnut.com/l/_AcbvKFpmupsu


103. If the roots of the equation  be equal, then

.

Watch Video Solution

px2 + qx + r = 0(p ≠ 0)

q = 2√pr

104. The ratio of the sum and the product of the roots of the equation

 is ______.

Watch Video Solution

7x2 − 12x + 18 = 0

105. If the roots of the equation  be reciprocal

to each other, then c= _______.

Watch Video Solution

ax2 + bx + c = 0(a ≠ 0)

106. If the roots of the equation  be negatively

reciprocal to each other, then a+c = _______ .

ax2 + bx + c = 0(a ≠ 0)

https://dl.doubtnut.com/l/_4v1H2lqfRV4G
https://dl.doubtnut.com/l/_1zmCZrVcn5w1
https://dl.doubtnut.com/l/_CSV3RFIsiRdS
https://dl.doubtnut.com/l/_tSYPgDpEaPXO


Watch Video Solution

107. If the sum of the roots of the equation  be zero,

then k _____.

Watch Video Solution

x2 − x = k(2x − 1)

108. The sum of the roots of the quadratic equation is 14 and the product

is 24, then find the quadratic equation.

Watch Video Solution

109. If the sum of the roots and product of the roots of the quadratic

equation  are equal, then find the value of k.

Watch Video Solution

kx2 + 2x + 3k = 0(k ≠ 0)

https://dl.doubtnut.com/l/_tSYPgDpEaPXO
https://dl.doubtnut.com/l/_fGpfZeW0BDiU
https://dl.doubtnut.com/l/_OZ8O6emlP7i6
https://dl.doubtnut.com/l/_T7PmMVpeLf7r


110. If the roots of the equation  be , then

find the value of .

Watch Video Solution

x2 − 22x + 105 = 0 α and β

(α − β)

111. If one root of the equations 

be 2, then find the value of q.

Watch Video Solution

x2 + bx + 12 = 0 and x2 + bx + q = 0

112. If the roots of the equation  be , then find 

Watch Video Solution

ax2 + bx + c = 0 α and β

+
α2

β

β2

α

113. If the product of the roots of the equation

 be 7, then find the value of k.x2 − 3kx + 2e2 loge k − 1 = 0

https://dl.doubtnut.com/l/_nBa4c8IBbaPO
https://dl.doubtnut.com/l/_BAy5cxknutNz
https://dl.doubtnut.com/l/_RYAzDHtCgJpd
https://dl.doubtnut.com/l/_oVxekLAzKPgs


Watch Video Solution

114. If one root of the quadratic equation be , then find the

equation.

Watch Video Solution

(3 + √2)

115. Find the roots of the quadratic equation .

Watch Video Solution

∣∣x
2∣∣ − 3|x| + 2 = 0

116. If the two roots of the equation are 1 and 2, then find the equation.

Watch Video Solution

117. If the roots of a quadratic equation be p+q and p-q, then find the

equation.

https://dl.doubtnut.com/l/_oVxekLAzKPgs
https://dl.doubtnut.com/l/_qyELGrfQTxzy
https://dl.doubtnut.com/l/_T1fMOngfutDm
https://dl.doubtnut.com/l/_GpMMRGMqYjbw
https://dl.doubtnut.com/l/_tKNeXt5OlQxy


Watch Video Solution

118. Construct quadratic equations when the given roots are- 

4,2

Watch Video Solution

119. Construct quadratic equations when the given roots are- 

-4,-3

Watch Video Solution

120. Construct quadratic equations when the given roots are- 

-4,3

Watch Video Solution

https://dl.doubtnut.com/l/_tKNeXt5OlQxy
https://dl.doubtnut.com/l/_dEjS8FWO95yf
https://dl.doubtnut.com/l/_UtfyKNHqXmxI
https://dl.doubtnut.com/l/_pXAqnEPCgNMC


121. Construct quadratic equations when the given roots are- 

5,-3

Watch Video Solution

122. For what value of m, the roots of the quadratic equation

 are reciprocal to each other ?

Watch Video Solution

4x2 + 4(3m − 1)x + (m + 7) = 0

123. If the roots of the quadratic equation

 are real and equal then prove that

2b=a+c.

Watch Video Solution

(b − c)x2 + (c − a)x + (a − b) = 0

https://dl.doubtnut.com/l/_pgWvWyQP0wwX
https://dl.doubtnut.com/l/_YGnqBaAzBO8H
https://dl.doubtnut.com/l/_hq4ZadrvemKW


124. If the roots of the quadratic equation

 be equal then prove that 

Watch Video Solution

(a2 + b2)x2 − 2(ac + bd)x + (c2 + d2) = 0

=
a

b

c

d

125. Prove that the quadratic equation

 will have no real root if .

Watch Video Solution

2(a2 + b2)x2 + 2(a + b)x + 1 = 0 a ≠ b

126. If  be the roots of the equation , then find

the values of

Watch Video Solution

α and β 5x2 + 2x − 3 = 0

( + )
1

α

1

β

https://dl.doubtnut.com/l/_9WG0yqGcxTLm
https://dl.doubtnut.com/l/_oJcRavOBZ0Nc
https://dl.doubtnut.com/l/_USxZTwwes1jA


127. If one root of the equation  be double the another

root of the eqaution, then prove that 

Watch Video Solution

ax2 + bx + c = 0

2b2 = 9ac.

128. Construct the quadratic equation, the roots of which are the

reciprcocals of the root of the quadratic equation .

Watch Video Solution

x2 + px + 1 = 0

129. Construct a quadrtic equation, the roots of which are the squares of

the roots of the equation .

Watch Video Solution

x2 + x + 1 = 0

130. Determine the nature of the roots of the quadratic equation

.3x2 − 2√6x + 2 = 0

https://dl.doubtnut.com/l/_Zm6sPlFQLyVO
https://dl.doubtnut.com/l/_qqA5WUERsxL5
https://dl.doubtnut.com/l/_YULhH98vgvIv
https://dl.doubtnut.com/l/_24T03ngN7DB1


Exercise 1 1

Watch Video Solution

131. Find the value of k if the following two quadratic equations have real

and equal roots :

View Text Solution

1. For what value of K the equation (K+3)  will not be a

quadratic equation ?

A. 

B. 

C. 

D. 

Answer: c

x2 + 2x − 1 = 0

−1

−2

−3

−4

https://dl.doubtnut.com/l/_24T03ngN7DB1
https://dl.doubtnut.com/l/_3BQIidSkZdY3
https://dl.doubtnut.com/l/_0U1apbhoj0uB


Watch Video Solution

2. For what power of the variable x, the equation  is a

quadratic equation ?

A. 2

B. 4

C. 6

D. 8

Answer: b

Watch Video Solution

x8 + x4 + 1 = 0

3. If the equation  is expressed in the form

of  then the coefficient of x is

A. 0

= (x ≠ 0, x ≠ 3)
x

3 − x

1

4x

ax2 + bx + c = 0(a ≠ 0)

https://dl.doubtnut.com/l/_0U1apbhoj0uB
https://dl.doubtnut.com/l/_o7uXWnHRoCs5
https://dl.doubtnut.com/l/_Y26AXdMET6kh


B. 1

C. 2

D. 3

Answer: b

Watch Video Solution

4. Which one of the following is a quadratic polynomial ?

A. 4x(x-1)+2

B. x-7

C. 

D. 

Answer: a

Watch Video Solution

5x7 − 2x + 1

x4 + x2 + 1

https://dl.doubtnut.com/l/_Y26AXdMET6kh
https://dl.doubtnut.com/l/_d0GW3rdEbXwZ
https://dl.doubtnut.com/l/_ikb8cXvgnxuN


5. The equation  is a quadratic equation with respect to 

Watch Video Solution

x4 + 1 = 0 x2

6. Write true or false , The coefficient of  in the given equation 

 is c.

Watch Video Solution

x0

x2 + bx + = 0
1

c

7.  is a quadratic _______

Watch Video Solution

2x2 + x + 1

8. The co-efficient of x in the equation  is ________

Watch Video Solution

x2 + 1 = 0

https://dl.doubtnut.com/l/_ikb8cXvgnxuN
https://dl.doubtnut.com/l/_tWNmg96L5IEZ
https://dl.doubtnut.com/l/_UOmNt2gVf78b
https://dl.doubtnut.com/l/_CxILvFGAJ0RG


9. The standard form of euadratic equation in one varible is

 where a, b, c are ______ numbers and a  ______

Watch Video Solution

ax2 + bx + c = 0 ≠

10. Explain the term  in the form of 

.

Watch Video Solution

2x2 + 4x − 5 = (x − 3)(x + 4) + 2

ax2 + bx + c = 0(a ≠ 0)

11. Explain the equation  in the quadratic form of 

 and determine the coefficient of 

.

Watch Video Solution

(x − 1)3 = x2(x + 2)

ax2 + bx + c = 0(a ≠ 0) x2, x and x0

https://dl.doubtnut.com/l/_6kPOEaUt2Jnc
https://dl.doubtnut.com/l/_RZauTPU7PuUY
https://dl.doubtnut.com/l/_CYKZtp0hDaTG


12. Form a quadratic equation in one variable from the following

statement : The product of two consecutive even positive numbers is 528.

Watch Video Solution

13. Explain the term  in the standard form of 

 where a, b, c are real numbers and 

Watch Video Solution

x − + 2 = 8(x ≠ 0)
1

2x

ax2 + bx + c = 0 a ≠ 0

14. Which of the following polynomials are quadratic polynomials ?

A. 

B. 

C. 2x(x-4)-1

D. 5x-1

x2 − 3x + 2

5x2 − 2(x − 2)

https://dl.doubtnut.com/l/_kuidneShT9wX
https://dl.doubtnut.com/l/_C5gDA2HPCM50
https://dl.doubtnut.com/l/_RWw0LRXpvCro


Answer: Quadratic polynomial; 

Not quadratic polynomial 

Quadratic polynomial; 

Not quadratic polynomial;

Watch Video Solution

15. Express the following eqautions in the form of 

where a, b, c are real numbers and .

A. 

B. 

C. 

D. 

Answer:  


 


 


Watch Video Solution

ax2 + bx + c = 0,

a ≠ 0

x − a + = 7(x ≠ 0)
a

x

2(x + 2)2 = x2 − 4x + 4

2x + = x(x ≠ 0)
a

x

x2 + x(a − 2x) − 7 = 0

x2 − (a + 7)x + a = 0

x2 + 12x + 4 = 0

x2 + a = 0;

x2 − ax + 7 = 0

https://dl.doubtnut.com/l/_RWw0LRXpvCro
https://dl.doubtnut.com/l/_Rk1rBl9iMaKr


16. Determine for which power of the variable x, the equation

 is a quadratic equation.

Watch Video Solution

x − 6√x + 2 = 0

17. Find for what value of a the equation 

is not a quadratic equation.

Watch Video Solution

(a − 1)x2 + x(x + 2) + 8 = 0

18. Express the term  in the quadratic

equation of the form .

Watch Video Solution

= (x ≠ 0, x ≠ k)
x

k − x

1

4x

ax2 + bx + c = 0(a ≠ 0)

https://dl.doubtnut.com/l/_Rk1rBl9iMaKr
https://dl.doubtnut.com/l/_9z7CmpPWk0do
https://dl.doubtnut.com/l/_wLTs93HKz0F3
https://dl.doubtnut.com/l/_DeziVijCcMhL


19. Find the coefficient of  of the equation 

Watch Video Solution

x3, x2, x and x0

(x − 1)5 = x(x4 + 1)

20. a is divided into two such parts that one part is equal to the square

of the other part.

Watch Video Solution

21. The product of two consecutive positive odd numbers is 323.

Watch Video Solution

22. The length of the diagonal of a rectangle is 13m and the length of it is

7m more than its breadth.

Watch Video Solution

https://dl.doubtnut.com/l/_L8DE477TzA66
https://dl.doubtnut.com/l/_IBw0dbwbhcum
https://dl.doubtnut.com/l/_s1THJj5MWpqm
https://dl.doubtnut.com/l/_PxiBZjRgZ6Hm


23. The distance between two station is d km. A train went the second

station from the first station with uniform velocity. If the velocity of the

train would be a km more, then the time taken by the train would be t

hours lesser than before.

Watch Video Solution

24. A person bought some kg of suger for Rs p. If he would get 8 kg sugar

more for same RS p, then the rate of value of suger per kg would be RS q

lesser than before.

Watch Video Solution

25. A clock-seller sold a clock in RS  by purchasing it. Then his

percentage of less was the same as the amount by which he had bought

the clock.

Watch Video Solution

(α + β)

https://dl.doubtnut.com/l/_PxiBZjRgZ6Hm
https://dl.doubtnut.com/l/_oqJGW2b8GpAO
https://dl.doubtnut.com/l/_Z7J4zxw26Q8M
https://dl.doubtnut.com/l/_eKyiBG5S4w9f


Watch Video Solution

26. If the speed of the stream is a km/hr, then the time taken by

Prosantamajhi to cover d km in downstream and upstream is t hours.

Watch Video Solution

27. There is a road of equal width around the outside of a rectangular

play-ground having the length a m and breadth b m and the area of the

road is A square-metre. Find the required quadratic equation .

Watch Video Solution

28. The unit digit of a two digit number exceeds its tens' digit by 7 and

the product of two digits is less by 10 from the number. Find the

quadratic equation.

Watch Video Solution

https://dl.doubtnut.com/l/_eKyiBG5S4w9f
https://dl.doubtnut.com/l/_pSCPEsLCZX17
https://dl.doubtnut.com/l/_pudXDIW4JW7y
https://dl.doubtnut.com/l/_aPHRoQdV9go5
https://dl.doubtnut.com/l/_ifOd3tdZsQvw


Exercise 1 2

29. The time taken to clean out a garden by Priyo is  hours more then

that by Prosanta. Both of them together can complete the work in 

hours.Find the required quadratic equation.

Watch Video Solution

t1

t2

1. For what value of k,  is a root of the quadratic equation 

?

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

3

5

4x2 + kx − 3 = 0

2
2

3

3
3

5

1
3

5

3
2

5

https://dl.doubtnut.com/l/_ifOd3tdZsQvw
https://dl.doubtnut.com/l/_HsZug2tA9G26


2. For what value of k(-a) is a root of the quadratic equation

 ?

A. 

B. 

C. a

D. 

Answer: d

Watch Video Solution

2x2 + 3ax + k = 0

−a2

−a

a2

3. One root of the quadratic equation  is

A. 

B. 

x2 + (2 − √5)x − 2√5 = 0

√5

−√5

https://dl.doubtnut.com/l/_HsZug2tA9G26
https://dl.doubtnut.com/l/_OTuSbZrI2xB8
https://dl.doubtnut.com/l/_6RqxVcvu5M6E


C. 2

D. 

Answer: a

Watch Video Solution

√2

4. One root of the equation  is

A. 1

B. 2

C. 

D. 

Answer: c

Watch Video Solution

x + = − 2
1

x

−1

−2

https://dl.doubtnut.com/l/_6RqxVcvu5M6E
https://dl.doubtnut.com/l/_WkPx57J9cb55


5. One root of the quadratic equation

.

Watch Video Solution

x2 + (√5 − √3)x − √15 = 0  is √3

6. (-1) is a root of the equation .

Watch Video Solution

√x + = 2
1

√x

7. The quadratic equation in one variable  have no ______ roots.

Watch Video Solution

x2 + 1 = 0

8. The roots of the quadratic equation  are ______ .

Watch Video Solution

x2 + a = 0

https://dl.doubtnut.com/l/_CdxOPjnCwVv0
https://dl.doubtnut.com/l/_UlM07ddLgoW4
https://dl.doubtnut.com/l/_lAz9wyAkSqE9
https://dl.doubtnut.com/l/_E3YRpU0ikDDF


9. The roots of the quadratic equation  are ______ and

_____.

Watch Video Solution

x2 − 2x + 1 = 0

10. Solve : .

Watch Video Solution

√x + = 2
1

√x

11. Determine for value of a if  is a root of the quadratic equation

.

Watch Video Solution

√2

ax2 + √2ax + a = 0

12. Prove that p and q are two roots of the quadratic

.

Watch Video Solution

x2 − (p + q)x + pq = 0

https://dl.doubtnut.com/l/_TwA1eTOXPAYg
https://dl.doubtnut.com/l/_KMtADtns4jBW
https://dl.doubtnut.com/l/_76vvLlb1o5o9
https://dl.doubtnut.com/l/_NZiSapo4m3Dz


13. Solve : .

Watch Video Solution

x + = √2
k

x

14. If  be two roots of the quadratic equation 

, then find the values of a and b.

Watch Video Solution

and − 5
2

5

ax2 − 5x + b = 0

15. If  be two roots of the quadratic equation 

, then find the values of a and b.

Watch Video Solution

√2 and − 1

√2ax2 + bx + 1 = 0

16. Solve the equations : 

x2 + 2bx − b2 = a2 − b(b − 2x)

https://dl.doubtnut.com/l/_NZiSapo4m3Dz
https://dl.doubtnut.com/l/_WWSioP6t6Nzq
https://dl.doubtnut.com/l/_u2SeMezmITXs
https://dl.doubtnut.com/l/_8WD6GjXVV1sb
https://dl.doubtnut.com/l/_IO1hb1pa2h2N


Watch Video Solution

17. Solve the equations : 

Watch Video Solution

=
b − ax

bx − a

d − cx

dx − c

18. Solve the equations : 

Watch Video Solution

{a2(x − b) − b2(x − a)} = x21

a − b

19. Solve the equations : 

Watch Video Solution

− + 6 = 0
x − 3

x + 3

x + 3

x − 3

6

7

https://dl.doubtnut.com/l/_IO1hb1pa2h2N
https://dl.doubtnut.com/l/_uXpB6GORUMgM
https://dl.doubtnut.com/l/_2MmooFP7Xq20
https://dl.doubtnut.com/l/_HXwPGyKlbSCk


20. Solve the equation

Watch Video Solution

|x − |4 − x|| − 2x = 4

21. Solve the equations : 

Watch Video Solution

+ =
x − 3

x + 3

x + 3

x − 3

2(x + 4)

x − 4

22. Solve the equations : 

Watch Video Solution

( )
2

− 5( ) + 6 = 0
a − x

x + a

x − a

x + a

23. Solve the equations : 

= 2
(x + 1)3 − (x − 1)3

(x + 1)2 − (x − 1)2

https://dl.doubtnut.com/l/_t00XyaYgIzyS
https://dl.doubtnut.com/l/_7cz20pw1HLUU
https://dl.doubtnut.com/l/_COzruNFELYv6
https://dl.doubtnut.com/l/_X3Ph5U1tHXjE


Watch Video Solution

24. Solve the equations : 

Watch Video Solution

+ = +
x − a

x − b

x − b

x − a

a

b

b

a

25. Solve the equations : 

Watch Video Solution

= + −
1

a + b − x

1

a

1

b

1

x

26. Solve the equations : 

Watch Video Solution

(x − 2)(x − 3) − = 0
a + 1

a2

https://dl.doubtnut.com/l/_X3Ph5U1tHXjE
https://dl.doubtnut.com/l/_RfKq6NQzRUUl
https://dl.doubtnut.com/l/_RbO1EMf9wKxe
https://dl.doubtnut.com/l/_YqmvUoTBBgED


Exercise 1 3

1. If  be a quadartic equation, then

A. 

B. 

C. a=1

D. a=0

Answer: b

Watch Video Solution

(a − 1)2
x2 + bx + c = 0

a ≠ 0

a ≠ 1

2. One of the roots of the equation  is

A. 1

B. 

C. a

x2 = a

−√a

https://dl.doubtnut.com/l/_EtWooKpaACrb
https://dl.doubtnut.com/l/_kWJjk7Ij1fkY


D. 0

Answer: a

Watch Video Solution

3. The highest power of the variable of the equation 

(a=constant) is

A. 2

B. 3

C. 

D. 

Answer: a

Watch Video Solution

x − = a21

x

−1

−3

https://dl.doubtnut.com/l/_kWJjk7Ij1fkY
https://dl.doubtnut.com/l/_mKmg3A7xzTAj


4. The number of roots of the equation  (a=constant)

A. 1

B. 2

C. 3

D. 4

Answer: b

Watch Video Solution

ax + =
a2

x

1

a3

5. The highest power of the variable of the equation  (a=

constant) is 2.

Watch Video Solution

√x − = a21

√x

https://dl.doubtnut.com/l/_oUCAYNDLiiIB
https://dl.doubtnut.com/l/_EzBjk34A6iAt


6. The value of n for which the equation  will be a

quadratic equation is 1.

Watch Video Solution

xn + x−n = k

7. _____ is a root of the equations .

Watch Video Solution

x2 = √a

8. The equation  will be quadratic equation if 

 _______.

Watch Video Solution

(√a − 1)x2 + bx + c = 0

a ≠

9. One of the roots of equation  is ______ .

Watch Video Solution

= 2
z2

z

https://dl.doubtnut.com/l/_noRa7pZ8XlfQ
https://dl.doubtnut.com/l/_sz1xGIrdn8RY
https://dl.doubtnut.com/l/_7q17JMEvpC5V
https://dl.doubtnut.com/l/_jqSholroumlC
https://dl.doubtnut.com/l/_TC0QTB3ETQC7


10. The sum of a proper fraction and its reciprocal is . Write the

equation.

Watch Video Solution

10

3

11. For what value of n, the equation  will be a

quadratic equation ?

Watch Video Solution

xn + = − k
1

√x

12. Determine the roots of the equation .

Watch Video Solution

x2 = 4x

13. Root/ roots of the equation  is /are.

Watch Video Solution

= 6
x2

x

https://dl.doubtnut.com/l/_TC0QTB3ETQC7
https://dl.doubtnut.com/l/_BrjXkmspHY2i
https://dl.doubtnut.com/l/_qah9RhcmwdbJ
https://dl.doubtnut.com/l/_dNWyO6Zqn6Dh
https://dl.doubtnut.com/l/_5SQDdfZek0Nw


14. Total price of 3 pens and 4 pencils is Rs. 37. Again , total price of 5

pens and 6 pencils is Rs. 60 . Find the price of each pen and of each pencil

seperately.

Watch Video Solution

15. The price of 5 tables and 9 chairs together is RS 1900. Again, the price

of 4 tables and 6 chairs together is RS 1300. What will be the price of 3

tables and 6 chairs together ?

Watch Video Solution

16. The price of 5 horses and 7 cows together is RS 8700. Again, the price

of 3 horses and 4 cows together is RS 5100. What is the price of 1 horse

and 1 cow together ?

Watch Video Solution

https://dl.doubtnut.com/l/_5SQDdfZek0Nw
https://dl.doubtnut.com/l/_aZ8pH5GeeLH0
https://dl.doubtnut.com/l/_lB2lKXeLlnCB
https://dl.doubtnut.com/l/_4F7UODQkr1fM


17. The price of 2 tables and 3 chairs together is RS 1075. Again, the price

of 3 tables and 8 chairs together is RS 1875. Determine the price of one

table.

Watch Video Solution

18. Satyababu went to a marked with RS 60 in pocket to buy some khatas

and dot-pens. Witnessing the market price of khatas and dot-pens, he

calcutated that if he had bought 15 khatas, then by the rest of his money,

he would be able to buy 6 dot-pens only. Also, if he had bought 12 khatas,

then by the rest of his money, he would be able to buy 7 dot-pens

remaining RS 1 in hand. What was the market price of each khata and of

each dot-pen ?

Watch Video Solution

19. The weight of Prodip and Prokash together is 80 kg. Half of the weight

of Prodip is equal to the  part of weight of Prokash. Determine the
5

6

https://dl.doubtnut.com/l/_4F7UODQkr1fM
https://dl.doubtnut.com/l/_3anhQR83Cudo
https://dl.doubtnut.com/l/_nwpsbGnunfWT


weight of Prodip and Prokash seperately.

Watch Video Solution

20. A student walking at a speed of  km per hour reaches his school 6

minutes late than the scheduled time. In the next day, he gears-up his

speed by 1 km per hour and reaches the school 6 minute before the

scheduled time. Find the distance of the school from his house.

Watch Video Solution

2
1

2

21. Divide 77 into three such parts that three times of the sum of 1st and

2nd part, subtraction of 3 from the sum of 2nd and 3rd part and addition

of 3 to the sum of 1st and 3rd part are all equal.

Watch Video Solution

https://dl.doubtnut.com/l/_nwpsbGnunfWT
https://dl.doubtnut.com/l/_urwujAvXMMo2
https://dl.doubtnut.com/l/_Q3aNPrHWDaWc


22. Two men and 6 boys together can do a work in 5 days. 8 men and 3

boys together can do the same work in 3 days. In how many days will 1

man and 3 boys together do the work ?

Watch Video Solution

23. Before three years, the age of a father was 5 times the age of his son.

After 4 years, the age of father will be 7 times of his son's age 4 years

ago. Find the present ages of both father and his son.

Watch Video Solution

24. The sum of the ages of a father and his son is at present 50 years.

When the age of the son will be equal to the present age of his father,

then the sum of their ages will be 102 years. Find the present ages of the

son and his father.

Watch Video Solution

https://dl.doubtnut.com/l/_iwZKBTWLJhZ2
https://dl.doubtnut.com/l/_pm2vp5C2yoWM
https://dl.doubtnut.com/l/_0Az3XWIaHswH


25. The sum of two numbers is equal to 80. Three times of the difference

of them is 20 more than the greatest number. Find the two numbers.

Watch Video Solution

26. The sum of the two digits of a two digits' number is 9. if the digits are

interchanged, then the number thus obtained is 27 more than the

original number. Find the number.

Watch Video Solution

27. If 1 is subtracted from the numerator and 2 is added to the

denomenator of a fraction it becomes , also, if 7 is subtracted from the

numberator and 2 is subtracted from the denominator then the fraction

becomes . Find the fraction.

Watch Video Solution

1

2

1

3

https://dl.doubtnut.com/l/_Nxr7mL2AEusO
https://dl.doubtnut.com/l/_OlEbuKAuZVuU
https://dl.doubtnut.com/l/_9pwTe3ZstLCR
https://dl.doubtnut.com/l/_yp40UK4lyhTa


28. If 2 is subtracted from the numerator and 3 is added to the

demoenator a fraction becomes . Again if 6 is added to the numerator

and the denomenator is multiplied by 3, then it becomes . Determine

the fraction.

Watch Video Solution

1

4
2

3

29. A two digits number is 3 times of the sum of its digits. If the digits are

interchanged, then the number thus obtained is 9 less than 3 times of

the original number. Find the number.

Watch Video Solution

30. If the digits of a two digits' number are interchanged, then the

number thus obtained is  part of the original number and the

difference of the digits is 1. Find the number.

Watch Video Solution

5

6

https://dl.doubtnut.com/l/_yp40UK4lyhTa
https://dl.doubtnut.com/l/_y2nD46rhPfvc
https://dl.doubtnut.com/l/_9rKdO7c4zcmm
https://dl.doubtnut.com/l/_IROGYD4dkKFC


31. The tens' digit of a two digits number is twice of its unit digit. If 40 is

subtracted from the number then the two digits of the new number

becomes equal. Find the number.

Watch Video Solution

32. If a two digits' number is divided by the sum of digits, the quotient is

6 and the residue is 3. Again, if two digits are interchanged, then the new

number thus obtained, is divided by the sum of the digits, the quotient is

4 and the residue is 9. Find the number.

Watch Video Solution

33. Rahul said to Rohan. ''I am twice as old as you were when I was as old

as you are'' The sum of their present ages is 63 years. Find their ages.

Watch Video Solution

https://dl.doubtnut.com/l/_IROGYD4dkKFC
https://dl.doubtnut.com/l/_nsCJuBhmI7Vi
https://dl.doubtnut.com/l/_pIZO8Ptakr84
https://dl.doubtnut.com/l/_6flK4dCKsH7I


34. Fill the blank: Roots of the equation  are______________

Watch Video Solution

x2 = 6x

35. A man rowing at the rate 4 km an hour takes thrice as much time to

go 30 km up a river as in going 30 km down. Find the rate at which the

river flows.

Watch Video Solution

36. A boat goes up-stream 30 kilometres and down-stream 44 kilometres

in 10 hours, it also goes up-stram 40 kilometres and down-stream 55

kilometres in 13 hours. Find the speed of the stream and of the boat.

Watch Video Solution

37. A boy was aksed to add 3 to a certain number and to divide the sum

by 2, but he subtracted 2 from the number and multiplied the remainder

https://dl.doubtnut.com/l/_6flK4dCKsH7I
https://dl.doubtnut.com/l/_FQxujjlggfDH
https://dl.doubtnut.com/l/_FxgtzG3RjQ8a
https://dl.doubtnut.com/l/_dCYLZWmoriju


by 3 and got the same result. Find the number and the result.

Watch Video Solution

38. Milk and water are mixed in two pots at the ratios 2:3 and 5:4. In what

ratio should the contents of the two pots be mixed so as to make the

ratio between milk and water 1:1 ?

Watch Video Solution

39. A box contains one rupee, fifty paise and twenty five paise coins. The

total value of coins is RS (a+b+c)x. The ratio of their number is 

respectively. Find the number of respective coins.

Watch Video Solution

a : 2b : 4c

40. The three sides of a triangle are (x+5), (4x-y) and (y+2) centimetres in

length. If the triangle is equilateral, find its perimeter.

https://dl.doubtnut.com/l/_dCYLZWmoriju
https://dl.doubtnut.com/l/_d0sn936ZCevs
https://dl.doubtnut.com/l/_z1WXCLtNc5cE
https://dl.doubtnut.com/l/_FMA9zvoIsy2H


Watch Video Solution

41. If the length of a rectangle is decreased by 5 metres and the breadth

is increased by 3 metres the area is decreased by 9 sq metres but if the

length is increased by 3 metres and the breadth by 2 metres, the area is

increased by 67 sq.metres. Find its length and breadth.

Watch Video Solution

42. The monthly income of two brothers is RS 1550. One of them gives

half of his income and other gives  of his income to their father. In each

month, father gets RS 650 in all. What are the monthly incomes of the

two brothers ?

Watch Video Solution

1

3

43. The total monthly salary of two persons is RS 7500. They spend 90%

and 80% of their salaries respectively. If the ratio of their monthly savings

https://dl.doubtnut.com/l/_FMA9zvoIsy2H
https://dl.doubtnut.com/l/_2jjMOA1EBHbD
https://dl.doubtnut.com/l/_jVXWTJOgh5tR
https://dl.doubtnut.com/l/_OyuR9JLrOdKT


Exercise 1 4

is 3:4, find their monthly salaries.

Watch Video Solution

1. The perfect square form of the quadratic equation

 is

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

px2 + qx + r = 0(p ≠ 0)

(x − )
2

=
a

2p

q2 − 4pr

4p2

(x + )
2

=
q

2p

q2 − 4pr

4p2

(x + )
2

=
q

2p

q2 − 4pr

4p

(x − )
2

=
q

2p

q2 − 4pr

2p

https://dl.doubtnut.com/l/_OyuR9JLrOdKT
https://dl.doubtnut.com/l/_yZxmDu6RS2K3


2. The perfect square form of the quadratic equation 

is

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

7x2 + 5x − 1 = 0

(x + )
2

+ = 0
5

14

53

196

(x − )
2

=
5

14

53

196

(x + )
2

=
5

14

53

196

(x + )
2

= −
5

14

53

14

3. If the equation  is expressed in the form 

 then the value of b is

A. p-q

B. p+q

C. q-1

(x − p)(x + q) + r = 0

ax2 + bx + c = 0(a ≠ 0)

https://dl.doubtnut.com/l/_r8m6dlKMq6QC
https://dl.doubtnut.com/l/_c0MKB5viWWG6


D. q-p

Answer: d

Watch Video Solution

4. If the equation  is expressed in the form 

, then the value of a is .

A. 15

B. 13

C. 

D. 17

Answer: a

Watch Video Solution

(4p + 2)2 − p(p − 1) = 0

ap2 + bp + c = 0(a ≠ 0)

−15

https://dl.doubtnut.com/l/_c0MKB5viWWG6
https://dl.doubtnut.com/l/_TJ5lm86t6CyZ


5. If the equation  is expressed in the form 

, then b=-5.

Watch Video Solution

(2p − 1)2 − p(p + 1) = 0

ap2 + bp + c = 0(a ≠ 0)

6. The perfect square form of the quadratic equation

 is 

Watch Video Solution

lx2 + mx + n = 0(l ≠ 0) (x + )
2

=
m

2l

m2 + 4lm

4l2

7. The perfect square form of the quadratic equation  is

_______.

Watch Video Solution

x2 + x + 1 = 0

8. If the equation  is expressed in the form 

, then the value of c is ______.

(x + p)(x − q) − r = 0

ax2 + bx + c = 0(a ≠ 0)

https://dl.doubtnut.com/l/_6eORhSdSClci
https://dl.doubtnut.com/l/_0V1Ai9h1cHQg
https://dl.doubtnut.com/l/_kMXztEcNOYSx
https://dl.doubtnut.com/l/_PRtftnQF4dZV


Watch Video Solution

9. Express the equation  in the standard quadratic equation

form .

Watch Video Solution

px2 + r = 0

ax2 + bx + c = 0(a ≠ 0)

10. Express the equation  in a perfect square form.

Watch Video Solution

lx2 + mx + n = 0

11. Solve the equation  by perfect square method.

Watch Video Solution

2x2 + x − 10 = 0

12. What is the value of k if in the solution of the equation

 by Sreedhar Acharya's formula we have got 7x2 + x − 1 = 0

https://dl.doubtnut.com/l/_PRtftnQF4dZV
https://dl.doubtnut.com/l/_unjGEG0ZEvSA
https://dl.doubtnut.com/l/_rM5UklztJCWG
https://dl.doubtnut.com/l/_irlUeYRq7DmT
https://dl.doubtnut.com/l/_xECOuTiZMLyr


 ?

Watch Video Solution

x =
−1 ± √k

14

13. Solve the quadratic equation  by perfect square

method.

Watch Video Solution

αx2 + βx + γ = 0

14. Solve by applying Sreedhar Acharya's formula - 

Watch Video Solution

(b − 1)x2 + cx + d = 0

15. Determine a natural number which is less by 12 than its square.

Watch Video Solution

https://dl.doubtnut.com/l/_xECOuTiZMLyr
https://dl.doubtnut.com/l/_CBBEH6lKskD5
https://dl.doubtnut.com/l/_7hxxvfElDRkw
https://dl.doubtnut.com/l/_BuQUYH9XPFHp


16. Somen has drawn a right-angled triangle, the hypotenuse of which is 3

cm more the twice of its smallest side. If the length of its third side be 1

cm less than the hypotenuse, then find the lengths of the sides of the

right-angled triangle.

Watch Video Solution

17. The speed of Laxmi is 1m /sec more than that of Salma. To travel a

distance of 180 metres, Laxmi reaches 2 seconds before Salma. What was

the speed of Salma in meter per second ?

Watch Video Solution

18. In our village, Sankarbabu bought 350 chilli plants for planting in his

rectangular land. When he put the plants in rows, he noticed that, if he

would put 24 rows more than the number of plants in each row, 10 plants

would remain excess. Calculate the number of plants he put in each row.

Watch Video Solution

https://dl.doubtnut.com/l/_byAZNSgxsVvI
https://dl.doubtnut.com/l/_q6hbPpEFq1k2
https://dl.doubtnut.com/l/_J3SSQfpckUxT


Watch Video Solution

19. Durgadebi went to the market and saw that the price of dal of 1 kg is

RS 20 and the price of rice of 1 kg is RS 40 less than that of fish of 1 kg.

The quantity of fish and that of dal in RS 240 is equal to the quantity of

of rice in RS 280. Calculate the cost price of 1 kg fish, Durgadevi had

bought in the market.

Watch Video Solution

20. Divide 50 into two parts such that the sum of their reciprocals may be

.

Watch Video Solution

1

12

21. If the price of pins decreases 2 paise per dozen, then the buyer will get

6 pins more than the number of pins he should normally get for 42 paise.

What is the price per dozen of pins at present ?

https://dl.doubtnut.com/l/_J3SSQfpckUxT
https://dl.doubtnut.com/l/_2g9MYyp3QCxt
https://dl.doubtnut.com/l/_nzsP2oOsuJCc
https://dl.doubtnut.com/l/_pEE6hGJk9Ob5


Watch Video Solution

22. A boatman can row 7 km down a river and back in  hours. If the

river runs at the rate of 2 km per hour, find the rate of the pull in still

water.

Watch Video Solution

4
2

3

23. The sum of the squares of two consecutive numbers is 145. Find them.

Watch Video Solution

24. Divide unity into two parts such that the sum of their cubes is 

Watch Video Solution

7
16

25.  is a quadratic equation thenax2 + bx + c = 0

https://dl.doubtnut.com/l/_pEE6hGJk9Ob5
https://dl.doubtnut.com/l/_HnZeC4Twb4SF
https://dl.doubtnut.com/l/_vQlY5Wzur6cp
https://dl.doubtnut.com/l/_jIHFB6VntQCN
https://dl.doubtnut.com/l/_fugMur0Vc8Cy


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

b ≠ 0

c ≠ 0

a ≠ 0

26. Find a fraction which assumes twice or thrice its orginal value when 2

or 3 respectively is added to both its numerator and denominator.

Watch Video Solution

27. Find the fraction less than one such that the sum of the numerator

and denominator is 10 and the difference between the fraction and its

reciprocal is .

Watch Video Solution

40
21

https://dl.doubtnut.com/l/_fugMur0Vc8Cy
https://dl.doubtnut.com/l/_JM0PTcaWuyyN
https://dl.doubtnut.com/l/_2JUkzeCCORBD


Exercise 1 5

Watch Video Solution

28. Number of roots in a quadratic equation is

A. 1

B. 2

C. 3

D. 4

Answer:

Watch Video Solution

1. If the roots of the quadratic equation  are

equal, then m=

A. 2,3

x2 − m(2x − 5) − 6 = 0

https://dl.doubtnut.com/l/_2JUkzeCCORBD
https://dl.doubtnut.com/l/_xwhCp0YRIJ7Z
https://dl.doubtnut.com/l/_29yAoiBqekl5


B. 6,1

C. 4,1

D. None of these

Answer: a

Watch Video Solution

2. The roots of the equation  are

Watch Video Solution

x2 + x − 6 = 0

3. If the roots of the equation  the

the equation, the roots of which are , is

A. 

B. 

C. 

4x2 − 5x + 2 = 0  are and
α2

β

β2

α

α and β

2x2 − x + = 0

2x2 + x + 1 = 0

2x2 + x − 1 = 0

https://dl.doubtnut.com/l/_29yAoiBqekl5
https://dl.doubtnut.com/l/_mw7YtrlALgyq
https://dl.doubtnut.com/l/_QDtAiM4TT3gh


D. None of these

Answer: b

Watch Video Solution

4. If the product of the roots of the quadratic equation

 be 8, then the value of k =

A. 

B. 3

C. 

D. None of these

Answer: c

Watch Video Solution

x2 − 5kx + 3eloge k − 1 = 0

−3

3√3

https://dl.doubtnut.com/l/_QDtAiM4TT3gh
https://dl.doubtnut.com/l/_cjg6J4TRFzDs


5. The quadratic equation one root of which is

.Find true or false.

Watch Video Solution

(2 − √3), is x2 − 4x + 1 = 0

6. If the roote of the quadratic equation  are

equal then one of the values of p is (-5).

Watch Video Solution

x2 − p(x − 3) − 5 = 0

7. The product of the roots of the quadratic equation 

is ______.

Watch Video Solution

ax2 + cx + b = 0

8. The sum of the roots of the quadratic equation

 is _______ .(2 − √3)x2 + x + 1 = 0

https://dl.doubtnut.com/l/_17xZ3lXFcGjW
https://dl.doubtnut.com/l/_gdvdNTXkbvy6
https://dl.doubtnut.com/l/_M6ZfwwxXfU2d
https://dl.doubtnut.com/l/_FLLglFfT3opY


Watch Video Solution

9. Find the quadartic equation whose one root is 

Watch Video Solution

(3 − √2)

10. Find m, given that the difference of the roots of the equation

 is 2.

Watch Video Solution

2x2 − 12x + m + 2 = 0

11. Find the quadartic equation whose sum of the roots is 2 and sum of

the cubes of the roots is 27.

Watch Video Solution

https://dl.doubtnut.com/l/_FLLglFfT3opY
https://dl.doubtnut.com/l/_ITi0OLqY6sOh
https://dl.doubtnut.com/l/_2pHQym0WU9zN
https://dl.doubtnut.com/l/_bnP77JkzZ4Zu


12. For what values of a, the roots of the quadratic equation

 are equal ?

Watch Video Solution

x2 − (3a − 1)x + 2a2 + 2a − 11 = 0

13. Determine the nature of the roots of the qaudratic equation

.

Watch Video Solution

3√2x2 + 19x + 8√2 = 0

14. If  be the roots of the quadratic equation ,

then find the values of 

Watch Video Solution

α and β 2x2 + 2x − 3 = 0

α + β + 1

https://dl.doubtnut.com/l/_xdOhwdP8l3nU
https://dl.doubtnut.com/l/_azchJVXKJw1x
https://dl.doubtnut.com/l/_KXWBfzuzJNWw


15. If  be the roots of the quadratic equation ,

then find the values of 

.

Watch Video Solution

α and β 2x2 + 2x − 3 = 0

2αβ

16. If  be the roots of quadratic equation ,

then find the value of the following quantities : 

Watch Video Solution

α and β ax2 + bx + c = 0

+
1

aα + b

1

aβ + b

17. If  be the roots of quadratic equation ,

then find the value of the following quantities : 

Watch Video Solution

α and β ax2 + bx + c = 0

(aα + b)
− 2

+ (aβ + b)
− 2

https://dl.doubtnut.com/l/_gI6HNOSiFkZU
https://dl.doubtnut.com/l/_KluVQc4HhnaW
https://dl.doubtnut.com/l/_A4fqWfa2QmgU
https://dl.doubtnut.com/l/_pjre4CCrF7ch


18. If  be the roots of the equation , then find

the values of the quantities given below : 

View Text Solution

α and β x2 + px + q = 0

(α + p)
− 3

+ (β + p)
− 3

19. If  be the roots of the equation , then find

the values of the quantities given below : 

Watch Video Solution

α and β x2 + px + q = 0

α4β7 + β4α7

20. Solve by applying Sreedhar Acharya's formula - 

Watch Video Solution

(px − 1)(qx + 2) + r = 0

https://dl.doubtnut.com/l/_pjre4CCrF7ch
https://dl.doubtnut.com/l/_MWhuxD9sXqCI
https://dl.doubtnut.com/l/_oTnH6hX4Z0bk


21. If  be the roots of the quadratic equation ,

then determine the value of  in terms of p and q.

Watch Video Solution

α and β x2 − px + q = 0

(α5β7 + α7β5)

22. If  be the roots of the equation , then find

then value of .

Watch Video Solution

α and β 5x2 + 7x + 3 = 0

α3 + β3

α− 1 + β − 1

23. If  be the roots of the quadratic equation ,

then find the quadratic equation whose roots are

.

Watch Video Solution

α and β x2 + px + q = 0

(α − β)2 and (α + β)2

https://dl.doubtnut.com/l/_KXQrtafKhT6F
https://dl.doubtnut.com/l/_tJIIpKY4UVJa
https://dl.doubtnut.com/l/_GWFM0UjqvWYO


24. If  be the roots of the quadratic equation ,

then find the quadratic equation whose roots are

.

Watch Video Solution

α and β ax2 + bx + c = 0

( + 1) and ( + 1)
1

α

1

β

25. If  be the roots of the quadratic equation ,

then show that .

Watch Video Solution

α and β px2 − qx + q = 0

√ + √ − √ = 0
α

β

β

α

q

p

26. If the ratio of the roots of the quadratic equation 

be p:q, then prove that .

Watch Video Solution

lx2 + nx + n = 0

√ + √ + √ = 0
p

q

q

p

n

l

https://dl.doubtnut.com/l/_wWfX7nooBbOk
https://dl.doubtnut.com/l/_exTCEehx1Dmo
https://dl.doubtnut.com/l/_VYXJCeMzdd8j


27. If one root of the equation  be 5-times

of the other, then find the numerical value of a.

Watch Video Solution

x2 + (5a + 2)x + 5a + 2 = 0

28. If the ratio of the roots of the quadratic equation 

be 2:3, then prove that .

Watch Video Solution

x2 − px + q = 0

6p2 = 25q

29. If the sum of the roots of the equation  be three

times their difference show that, .

Watch Video Solution

x2 − px + q = 0

2p2 = 9q

30. If the sum of the roots of the quadratic equation 

be equal to the sum of their squares, then prove that .

ax2 + bx + c = 0

2ac = ab + b2

https://dl.doubtnut.com/l/_worAunEuTvaF
https://dl.doubtnut.com/l/_vVNjcAaoPwpR
https://dl.doubtnut.com/l/_FpplkYfAPCRL
https://dl.doubtnut.com/l/_NtdX339hujF3


Watch Video Solution

31. Show that the roots of the equation

 are equal if either b=0 or , 

Watch Video Solution

(a2 − bc)x2 + 2(b2 − ca)x + c2 − ab = 0

a3 + b3 + c3 − 3abc = 0

32. if the roots of the equation 

are equal then show that 

Watch Video Solution

a(b − c)x2 + b(c − a)x + c(a − b) = 0

= +
2

b

1

a

1

c

33. Find the condition so that the roots of the equation

 may be equal in magnitude but oppsite in signs.

Watch Video Solution

+ = 5
a

x − a

b

x − b

https://dl.doubtnut.com/l/_NtdX339hujF3
https://dl.doubtnut.com/l/_HO3kqzr5BGmV
https://dl.doubtnut.com/l/_xiAbwx3CkJlA
https://dl.doubtnut.com/l/_PKQt8lb9jtDE
https://dl.doubtnut.com/l/_XSIHHviGVbVJ


34. If the roots of the equation  be  and , show that

the equation with roots and  will be 

Watch Video Solution

ax2 − bx + a = 0 α β

α2 + 1 β2 + 1 a2x2 − b2x + b2 = 0

35. IF and  are the roots of the equation , find

the equation whose roots are p and q (p+q real).

Watch Video Solution

p2

q

q2

p
2x2 + 7x − 4 = 0

36. If the ratio of the roots of the quadratic equation 

be m:n, then prove that 

Watch Video Solution

ax2 + bx + c = 0

=
(m + n)

2

mn

b2

ac

37. If the ratio of the roots of the quadratic equation  be

m:n, then prove that .

W t h Vid S l ti

x2 − px + q = 0

p2mn = q(m + n)
2

https://dl.doubtnut.com/l/_XSIHHviGVbVJ
https://dl.doubtnut.com/l/_YewX0pJ8c3Pr
https://dl.doubtnut.com/l/_2IfovyS9z8Zw
https://dl.doubtnut.com/l/_2jcXRmBOuFOg


Watch Video Solution

38. If the difference of the roots of the quadratic equation

 be 1, then prove that .

Watch Video Solution

x2 − px + q = 0 p2 + 4q2 = (1 + 2q)
2

39. If the difference of the roots of the equations

 be a constant, then

prove that .

Watch Video Solution

x2 + 2px + q = 0 and x2 + 2px + p = 0(p ≠ q)

p + q + 1 = 0

40.  are the roots of the quadratic equation 

. If a, b are rational numbers, but if  be not

a perfect square, then find such a quadratic equation one root of which is

.

Watch Video Solution

α and β

x2 + 2px − 2b2 = 0 (α2 + β2)

α + β + √α2 + β2

https://dl.doubtnut.com/l/_2jcXRmBOuFOg
https://dl.doubtnut.com/l/_I5SK0IXqDUXx
https://dl.doubtnut.com/l/_KRVyWcfXEOoD
https://dl.doubtnut.com/l/_2fZp9Z7eyVHn


https://dl.doubtnut.com/l/_2fZp9Z7eyVHn

